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P 3 D16 8 040 15 1.56 12.54 188 | — F 3 D32 6 950 25 6.23 43.30 1083 | —
P 4 D16 7 560 15 1.56 11.79 177 | — F a D16 2 090 30 1.56 3.26 127 | —
P 5 D16 7 570 1 1.56 11.81 12 | — F 5 D22 3 140 39 3.04 9.55 a7z | _J
P 6 D16 7 570 1 1.56 11.81 12 | — F 6 D16 4 800 8 1.56 7. 49 60 | —
P 7 D16 1 810 32 1.56 2.82 9 |\ F 7 D25 5 380 31 3.08 21. 41 664 | —
P 8 D13 7 570 4 0.995 7.53 30 | — F 8 D22 5 100 39 3.04 15.50 605 | L
P o D13 7 560 5 0.995 7.52 38 | — F o D16 9 300 10 1.56 14.51 145 | —
P 10 D16 2 210 22 1.56 3.45 76 |/ F 10 D16 3 100 28 1.56 4.84 136 |
P 11 D13 640 98 0.995 0.64 63 | [~ F o1l Do 9 870 15 2.25 22.21 333 | —
P12 D16 820 29 1.56 1.28 a7 | L F 12 Di6 9 300 24 1.56 14. 51 348 | —
P13 D13 590 32 0.995 0.59 19 |1 F 13-1| pie 10 000 15 2.25 22.50 338 | —
P 14 D13 660 4 0. 995 0.66 3 |1 crom F 13-2| D19 3 500 15 2.25 7.88 118 | _|
P15 D13 840 2 0.995 0.84 2 | [ F 14 Di9 9 300 14 2.25 20.93 203 | —
P 16 D22 500 12 3.04 1.52 18 || F 15 D19 9 830 14 2.25 22.12 310 | ]
o~ E 2 039 kg F 16 D16 2 120 6 1.56 3.31 20 | [
F 17 D16 2 120 10 1.56 3.31 33 | [
A1 D16 7 080 32 1.56 11.04 353 | | F 18 D16 1 670 42 1.56 2.61 110 | [
A2 D16 7 080 32 1.56 11.04 383 || F 19 D19 1 830 368 2.25 4.12 1516 | [
A3 D16 8 060 20 1.56 12.57 261 | — F 20 D16 1 670 68 1.56 2.61 177 | [
A4 D16 8 060 20 1.56 12.57 251 | < F 21 D16 1 670 40 1.56 2.61 104 | [
A S D16 8 060 2 1.56 12.57 25 | — o 7 086 kg
A s D29 9 380 11 5.04 47.28 520 | —
A7 D16 3 720 32 1.56 5.80 186 | [
A8 D16 2 540 30 1.56 3.96 119 | —
A9 D16 7 080 7 1.56 11.04 77 | L L1 D16 7 300 20 1.56 11.39 228 | —
A 10 D16 7 080 7 1.56 11.04 77 | L L 2 D16 5 510 16 1.56 8. 60 138 | =
A 11 D16 2 540 65 1.56 3.96 257 | — L 3 Di6 5 510 1 1.56 8.60 9 |—
» 2 469 kg L 4 Die 7 300 20 1.56 11.39 228 | —
L s D16 5 510 16 1.56 8. 60 138 | —
s1 D16 1 900 24 1.56 2.96 71 [ L 6 D16 5 510 1 1.56 8. 60 9 |
s2 D16 2 350 12 1.66 3.67 44 | L 7 D16 10 910 16 1.56 17.02 212 || s
s3 D16 2 510 4 1.56 3.02 16 |07 L8 Di6 10 910 16 1.56 17.02 212 || (wmmE)
»E 131 ke Lo D13 790 16 0.995 0.79 13 |1
L 10 Dis 5 040 20 1.56 7.86 157 | /
¢ 1 D19 10 430 20 2.25 23.47 469 | | L n D16 2 500 12 1.56 3.90 a |/
c 2 D25 10 520 40 3.98 41.87 1675 | L L 12 D13 860 72 0.995 0.86 62 |~
c 3 D16 10 390 30 1.56 16.21 a86 | | L 13 D13 5 000 5 0.995 4.08 2% | —
c 4 D19 8 160 27 2.25 18.36 496 | — L 14 D16 2 700 16 1.56 4.21 67 |/
¢ 5 D16 8 070 7 1.56 12.59 88 | < L 15 Di6 10 090 6 1.56 15.74 oa ||
c 6 D16 8 060 34 1.56 12.57 427 | == L 18 D16 10 390 2 1.56 16.21 32 ||
c 7 D16 8 560 4 1.56 13.35 53 | — L 17 D16 2 300 4 1.56 3.59 14 |
c 8 D16 1 180 30 1.56 1.84 55 | R 1 805 kg
c o D16 1 180 30 1.56 1.84 55 | [ |
¢ 10 D13 7 560 2 0. 995 7.52 15 | — R 1 D16 7 300 12 1.56 11.30 137 | <
¢ 1 D13 1170 170 0.995 1.16 197 | — R 21 | D16 3 700 8 1.56 5.77 % |  Kk®
¢ 12 D22 500 13 3.04 1.52 20 || R 22 | DI6 2 410 8 1.56 3.76 30 =  K®
¢ 13 D16 4 000 34 1.56 6.38 217 |/ R 3 D16 1 200 8 1.56 1.87 15 | —
c 14 D16 4 090 34 1.56 6.38 217 |\ R 4 D16 5 510 16 1.56 8. 60 138 | —
a w 4470 ke R 5 Di6 5 510 1 1.56 8.60 9 | —
R 6 Di6 7 300 12 1.56 11.39 137 | <
H o1 D25 4 380 51 3.98 17.43 280 R 7-1 | D16 3 700 8 1.56 5.77 46 | K@
H 2 D22 4 380 26 3.04 13.32 346 R 72 | D16 2 410 8 1.56 3.76 30 ==  K®
H 3 D22 6 630 17 3.04 20. 16 343 | — R 8 D16 1 200 8 1.56 1.87 15 | —
H 4 D16 6 630 17 1.56 10.34 176 | — R o D16 5 510 16 1.56 8. 60 138 | <
H 5 D13 680 48 0.995 0.68 33 | 1 R 10 D16 5 510 1 1.56 8. 60 9 |—
H s D10 960 12 0.56 0.54 6 | = R 11 Di6 10 910 10 1.56 17.02 170 | wEmm
moE 1 793 ke R 12-1| D16 2 440 6 1.56 3.81 23 || K(6)
R 12-2 | D16 6 770 6 1.56 10. 56 63 |} E—

i = £ & (mm) R HATRE ke/m) |1FRL YRR ke R (kg) =
R 13 D16 1 700 6 1.56 2. 65 16 ||
R 14 D16 10 910 10 1.56 17.02 170 | | crgm
R 15-1| D16 2 440 6 1.56 3.81 23 || K(6)
R 15-2 | D16 6 770 6 1.56 10. 56 63 | P
R 16 D16 1 700 6 1.56 2. 65 16 ||
R 17 D13 790 16 0. 995 0.79 13 |1
R 18 D16 5 040 20 1.56 7.86 157 |~
R 19 D16 2 500 12 1.56 3.90 v |/
R 20-1| D13 860 66 0. 995 0.86 57 |~
R 202 | DI3 860 6 0. 995 0.86 5 |~
R 21 D13 5 000 5 0. 995 4.98 26 | —
R 22 D16 2 700 16 1.56 4.21 67 |\
R 23 D16 10 090 6 1.56 15.74 94 | ]
R 24 D16 10 390 2 1.56 16. 21 32 |
R 25 D16 3 000 8 1.56 4.68 a7 ||
R 26 D19 3 000 8 2.25 6.75 54 | —
R 27 D16 3 500 16 1.56 5.46 87 | \
R 28 D16 2 300 4 1.56 3.59 14 | [
A B 1 983 kg
Wi D25 4 180 16 3.98 16. 64 266 |~ (FHE
Wi 2 D25 7 100 2 3.98 28.26 57 |—
WL 3 D25 6 700 1 3.98 26. 67 27 | —
W4 D6 4 040 16 1.56 6. 30 101 |~ (Rigm)
WL5 D16 6 960 2 1.56 10. 86 22 | —
WL 6 D16 6 700 1 1.56 10. 45 10 | —
W7 D16 3 230 23 1.56 5.04 116 || crmm
WL 8 D16 3 230 23 1.56 5.04 16 || (Pu®
WL 9 D16 8 760 1 1.56 13. 67 14 |
WL 10 D16 8 760 1 1.56 13.67 14 |~
We 11 D13 590 24 0. 995 0.59 14 | [ ]
Wi 12 D13 630 21 0. 995 0.63 13 | |
WL 13 D25 2 900 17 3.98 11.54 196 |
WL 15 D13 660 38 0. 995 0. 66 25 | [ 1
WL 16 D16 4 640 2 1.56 7.24 14 || cpem
WL 17 D25 6 820 3 3.98 27.14 81 | —
WL 18 D16 6 700 3 1.56 10. 45 3 | —
m Et 1117 ke
Wr 1 D25 4 180 16 3.98 16. 64 266 | T (FigE)
Wg 2 D25 7 100 2 3.98 28. 26 57 | —
Wr 3 D25 6 700 1 3.98 26. 67 27 | —
Wk 4 D16 4 040 16 1.56 6. 30 101 |~ (FEEE)
Wr 5 D16 6 960 2 1.56 10. 86 22 | —
Wr 6 D16 6 700 1 1.56 10. 45 0 | —
Wr 7 D16 3 230 23 1.56 5.04 116 || msm
Wk 8 D16 3 230 23 1.56 5.04 16 || (rg®
Wr 9 D16 8 760 1 1.56 13. 67 14 |~
Wr 10 D16 8 760 1 1.56 13. 67 14 |~
Wr 11 D13 590 24 0. 995 0.59 14 | [ ]
Wk 12 D13 630 21 0. 995 0.63 13 | ]
Wr 13 D25 2 900 17 3.98 11.54 196 |/
Wr 15 D13 660 38 0.995 0.66 25 | [ ]
Wk 16 D16 4 640 2 1.56 7.24 14 || cr®
Wr 17 D25 6 820 3 3.98 27.14 81 | —
Wr 18 D16 6 700 3 1.56 10. 45 31 | —
A B 1117 ke
) A BR2RETETRT.
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A2iBE B R (ED14)

#5 = 2 E (mm) i B e/m) 154 Y 7R ke) I (ke) bk
Ko 1 D16 3 330 36 1.56 519 187 D
KL 2 D13 3 140 56 0. 995 3.12 175 D
KL 3 D16 1 460 36 1. 56 2.28 82 \
KL 4 D13 1 320 56 0. 995 1.31 73 \
KL 5 D13 5 630 24 0. 995 5. 60 134 | —
KL 6 D13 11 460 3 0. 995 11.40 34 | —
i 685 kg
Kr 1 D16 3 330 36 1.56 519 187 ﬂ
Kr 2 D13 3 140 56 0. 995 3.12 175 ﬂ
Kr 3 D16 1 460 36 1.56 2.28 82 K
Kr 4 D13 1 320 56 0.995 1.31 73 (
KRr 5 D13 5 630 24 0. 995 5. 60 134 | —
Kr 6 D13 11 460 3 0. 995 11. 40 34 | —
n & 685 kg
iR
1RHET 2RHMET K
D32 1 083 kg - 1 083 kg
D29 520 kg - 520 kg
D25 5 756 ke - 5 756 kg
D22 1 704 kg - 1 704 kg
D19 3 927 kg - 927 kg
D16 10 786 kg 62 kg 10 848 kg (56)
D13 1 531 kg 5 kg 1 536 kg
D10 6 kg — 6 kg
(SD345) = & 25 313 ke 67 ke 25 380 ke (56)
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35

25

9600

wiE-tik (F8) ‘ BE (mm) LS4 ‘éﬁtil (ke/m) 1FHYER ke)) B (ke) =
A
$800 t=14 6 500 1 271 1762 1762 SKK400
$800 =9 2 000 1 176 352 352 ”
#800 t=9 8 000 1 176 1 408 1 408 ”
#8000 t=9 10 000 1 176 1 760 1 760 ”
$800 =9 10 000 1 176 1 760 1 760 ”
$800 =0 10 000 1 176 1 760 1 760 ”

8 802 kg
Hsctimag
R -300x12 2 551 ‘ 1 ‘ 28. 260 72. 091 72.1 $5400

72.1 kg
FiRRT
R -50x4.5 2 443 4 1.766 4.315 17.3 55400
R —20x6 30 24 0.942 0.028 0.7 ”
R -50x12 2 551 4 an 12.015 48.1

66.1 kg
MEEFTHhib s
R -25x12 2 353 2 2. 355 5.541 1.1 $8400
R —25x9 50 6 1.766 0.088 0.5 “

11.6 ke
HTE
K 1 D35 3 050 20 7.51 22,91 458 | | sD345
K 2 D13 3 250 11 0. 995 3.23 6 | O ”
K 3 D13 2 530 5 0. 995 2.52 13| 0O ”

o oRF 507 kg
hREavoU—Fk
V=1~4x 7t x0. 772%x1. 55 0.726 m®
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